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Instructions to the Candidates

wenfifat & fag fAder

Read the following instructions carefully
before you answer the questions. Answers
are to be marked on a SEPARATE O.M.R.

SHEET.

1. Please write your Centre Code No. and
Roll No. very clearly (only one digit in
one block) as given on your admission
card and even zeros appearing in the
Centre Code No. and Roll No. are
correctly written in the appropriate
blocks on O.M.R. sheet.

Example :

Sdc::"g; Year  CentreCode  Roll No.
[3] (217] 1] ATA1212] (i1214]

grEil @ 9w 39 @ uysd fr=feafaa
frdef & = ¥ 9fty) TR e FeEw
A Ean. Me w 3ifya a7 &)

HYAT D% BIe T a1 A T/ o1
f& ave waw—93 ¥ fear wmur @,
wedyl (T @ d 39  a 3is)
fafay| 7&f a@ f& auad @5 e
THEY YT A TR ¥ A ad Y D
e A atgmar. Me w 9 e o
ford g |

1.

i 441
. W, W e
' [B] [2]7] 11 OI1212] (A12]4]
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- This test has two parts. Part | as well

as Part Il consist of 90 questions in
each.

. Each question carries one mark.

. Since the time allotted to the two parts
of this question-paper is very limited,
you should make the best use of it by

not spending too much time on any
question.

- Extra page has been provided for rough
work at the end of question booklet.

- Do not mark more than one answer of

any question on OMR sheet otherwise
answer will be cancelled.

. Avoid cutting or over writing on OMR
sheet.

. Attempt each question, there is no
negative marking in this test.

g q@en @ AT A R YA

¥ o0 e 21

. yd@e v B TE S B

fPrafRa wma @fE 2, sUfay gyy
aftrean agualT AT R e g
W 4gd 99d T amEY|

. 9% yRa®T @ I 3 Y% (Rough) #1d

3 fau afoRea gy fRar mm 2

. AR, Me w fFh H = 3w

4 e SR 9P T B 9T TR
frea & som

. AWIR. Me w® S a7 aw

MEET 7 a¥

-mmﬁaﬂﬁq,sﬂmﬂ

TPRTHS Jd T8 2

: Do not write anything except | 3= -_;"'__ -
o th': Roll Number and rough !ﬁ:: ¥ ;:.;;[ :_;:‘If;

work anywhere in the booklet. frery - L4 hod |
\\_\3 B
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PART-l (A131-1)
MENTAL ABILITY TEST
afges avaar g
Questions : 1 to 90
Directions : (Q. 1 to 3) Pdwr (w. 1@ 3)

The numbers have been arranged under some | a7 frdt fram & s w @ o &) =&t
rule. Based on that rule, which number will Frm # 3TUT T gYaTEE fOE * WE @

come in place of the question mark ?

FI W1 3F amem ?
Q1. 2,33,510,13,7, 43,172,177 w1, 2,3,3,5,10,13,7,43,172, 177
(1) 23 ' (1) 23
(2) 38 (2) 38
(3 39 (3) 39
(4) 40 (4) 40

Q.2. 3,8,13,24,41,7
(1) 70
(2) 75
(3) 80
(4) 85

Q3 1,7,19,37,61,7

W2, 3,8,13,24,41,7
(1) 70
(2) 75
(3) 80
(4) 85

w3 1,7,19,37,61,7?

(1) 71 (1 n
(20 79 (2) 79
(3) 87 (3) 87
(4) 91 (4) 91
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Q.4

H
figure OW many triangles are In the given

e
N

(1) 32

(2) 34
(3) 36

(4) 38

Directions : (Q. 5to 10)
Use the information given below.

(a) Seven students P,Q,R, S, T,U and V take
a series of tests.

(b) No two students get equal marks.
(c) V always scores more than P,
(d) P always scores more than Q.

(e) Each time either R scores the highest and
T gets the least marks or alternatively S
scores the highest and U or Q scores the
least marks.

Q.5. K Sisranked sixth and Q Is ranked fifth
which of the following can be true ?

(1) Vs ranked first or fourth
(2) Risranked second or third
(3) P is ranked second or fifth
(4) U is ranked third or fourth

. 4, ﬁﬂ?mﬁﬁwﬂmm

t?
(1) 32
(2) 34
(3) 36
(4) 38
fdwr (w. 5 & 10)
IW X & fog Prefafes et = 3
g | '

(@ P.Q,R, S, T U 7ar v @ faendt =
aiteor sfeer ¥ amr @y £
(b) ® ot I frendt war 2w wa W
FAN
(c) VW& P ¥ atftrr aim ura mrar B
(d) P H3a Q A arftrs aiw wre & b
(e) W% AT A W R WA arferw A T W@
FH 3 U wvar & arerar S WA AE
T U A1 Q Had ®W 3w ura w1 L
V. 5. afq s warud Q utear e wa @
& & Provfrfea ¥ & a9 ar g g wEA t?

(1) V veen =1 Sty wm gra F@ &

(4) U fg o Sy o wra F@ ¢

e

e

Scanned by CamScanner

(2) R @0 71 drg e wa 7@ &
(3) P{Hﬂmﬂhﬂmmﬁm?‘.

b damesig e e o



Q.6. Information given in which of the above
statements a, b, ¢ and d is superfluous

(1) a

2 b

3 d

None of the statement is
superfluous.

(4)

Q.7. IfRis ranked second and Q is ranked
fifth, which of the following must be ture ?

(1)
(2)
3)
(4)

T is ranked sixth
V is ranked fourth
P is ranked third
S is ranked third

Q.8. [fVisranked fifth which of the following
must be true ?

(1)
(2)
3)
4)

P is ranked second
S is ranked first

T is ranked sixth

Q is ranked fourth

Q.9. If R scores the higﬁest marks, the
lowest rank of V should be

(1)
(2)
3
“)

Second
Third
Fourth

Fifth

. 6. Iuden a@wEd a, b, c A4 d # A faw
Foe & t TE qE SEAvIEA @ A 82
(1) a
(2) b
(3) d
(4) FE h qwEA AEvEHA G Al
& 2
. 7. afy R @ @0 @ Q @ UE @ g
a’(ﬁwﬁrﬁaﬂﬁﬁﬁ?mmnﬁm?
(1) T &1 a1 &M 2l
(2) V @ e @ 2
(3) P o e =M B
(4) S o dEU M B

g 8 afy v @ uiwar e &, @ Frefeed
¥ ¥ ST | ravd Wt o ?
(1) P @ gEU A 2
(2) S @1 7o T B
(3) T &1 531 @A 2|
(4) Q F e WF B

w 9. af¥ R Walfua 3 WA &tar & @ V
T T T Y H & Gl & ?

(1) T
(2) dEQ
(3) wren
(4) el
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Q.10. if S is ranked second, which of the
following can be true ?

(1)
(2)
(3)
(4)

P gets more than R.
V gets more than S.
T gets more than Q.

U gets more than V.

Directions : (Q. 11 to 13)

There is some relation between the letters and
numbers of each row. On the basis of the same
pattern find the correct choice among the given
alternatives for the given blanks in the third row.

(4) Uaﬁvﬂmﬁ%l

forder (W, 11 ® 13) ) .

e i § g T IR i Wi §
W@W%Wﬁmtﬁ’!%
e B § aE TaEed 1A ST S 4 fray
®q Y W@

Q.11. GM 77 98 KT w.11. GM 77 98 KT
PS 42 128 u~} PS 42 128 UY
DI ? ? CP DIb? ? CP
(1) 62,87 (1) 62,87
(2) 74,57 (2) 74,57
3) 33,72 " (3 33,72
(4) 87,62 (4) 87,62

Q.12. FJ 25 16 NS W12 FJ 25 16 NS
LZ 25 196 SX LZ 25 196 SX
NQ ? 7?7 WY NG ? 2wy
(1) 19.4 (1) 19,4
(2) 4,9 (2 4,9
(3 9.4 3) 9,4
4) 8,27 @ 8 27

———— e
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Q.13. AD 17 3 CF
BP 258 108 HJ
GN ? 7 LM
(1) 203, 181
(2) 9,29
(3) 179,239

(4) 18,210

Q.14. Rampur is on the West of Kasauli.
Bharatpur is on the East of Rampur. Lakhanpur
is on the West of Kasauli. Bharatpur is on the
East of Chanderpur. If Lakhanpur is on the West
of Rampur, in which direction from Bharatpur
is Lakhanpur

(1) East
(2) West
(3) North

(4) South

Directions : (Q. 15to 19)

The square represent employed persons. The
rectangle represents men. The circle represent
skilled persons. The triangle represents
graduates.

W13. AD 17 39 CF

BP 258 108 HJ

GN 7 ? LM

(1) 203,181

2 9, 29

(3) 179,239

(4) 18,210
W14, THGE, FHet @ afem # § 9EE,
T @ g ¥ 41 e, Fe ¥ afved
{1 v, = @ @ ¥ Al s,

TR @ ufvew ¥ @, W T, WA @
farw faam & &1

(1) @
(2) df=m
(3) I
(4) <fam
fordwr (W, 15 ¥ 19)
i wrd wfadell, G [EEl, ga HIA
=it wa e ee @ wafts w9 §)
6
14,
R
17
23 13
25
8 . 20
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Q. 15. The skilled unemployed women, who
are not graduates are :-

(1) 33
(2) 8
(3) 25
@ 7

Q. 16. The skilled employed women, who are
graduates are :-

w1s. Wlwmﬁm]}
oA -

(1) 33

(2) 8

(3) 25

(4) 7
w.16. W,Wmﬁm@f
s ¢ i

(h 23 (1) 23

(2) 31 (2) 31

(3) 56 (3) 56

) 28 (4) 28
Q.17. The skilled employed men, who are not | W.17. &9, TaTd TEel @ W A
graduates are :- T -

(1) 31 (1) 31

(@ 3 (2) 3

(3 8 (3) 8

(4) 39 (4) 39
Q. 18. The skilled employed men, who are | W. 18. &HTel, Tdtd THEI &l W&AT | A6
graduates are :- T

(1) 39 (1) 39

2) 4 (2) 41

(3) 0 (3) 0

(4) 5 (4) s
Q. 19. The unskilled employed men, who are | W. 19. 3Ry, hrdtq T&eT F wear S ws
not graduates are :- . T -

(1) 13 () 13

2) 35 (2) as

(3) 56 (3) 36

@ 43 (4) 43
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K% 72

%%,

.00, K0,
%000k

30
3
13

2
8

1
I
140

(1)
(2)
(3)
(4)

725757728

|

L. Hl

.
2

000, D700, 00,4

505 s/ s 2%
N

L0070 e,

&2

<

..

\ /07 0,
&8

Q.20. How many cubes are there in the given | w. 20, &t W& armagfer # WAt sl weAT Fewerft & 2

figure ?

A

30
32

1
138
140

1

)
)

1
(3)
(4)

"y,
W% % A
0,

(




Directions : (Q. 21 to 25)

A wooden cube is painted blue on all the four
adjoining sides and green on two opposite
' sides, i.e. top and bottom. It is then cut at equal
distances at right angles vertically (top to
bottom) and horizontally (along the sides) as
shown in the figure, where the dotted lines
represent the cuts made. Study the diagram and
answer the following questions.

Q.21. How many cubes will have only one
face painted in blue ? -

(1) 1
2) 2
(3) 3
4) 4

Q. 22. How many cubes will have only one
face painted in green ?

(1 1
(2) 2
(3 3
(4) 4
Q.23. How many cubes have no faces painted
atall ?
(1) 1
(2)
(3)
(4)

B W M

w. 22, mﬁ%#ﬂﬁl@aﬂmﬁw
Ye g ?

(1) 1
(2) 2
(3) 3
(4) 4

W 23, :
ﬂgﬁz%f??mﬁhﬁqa}Maﬁmﬂ
" (1) 1

(2) 2

(3) 3

(4) 4
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Q.24. How many cubes have two faces,
painted one in blue and one In green ?

(1) 4
(2) 8
(3) 12
(4) 16

Q.25. How many cubes have two faces
painted both in blue ?

w.z4.m%ﬁ%a’raﬁﬂﬁ!ﬂm.@
ur e qw & W

(1) 4

(2) 8

(3) 12

(4) 16

. 25. ﬁmiﬁﬁﬂaﬁWﬁﬂtfﬂ".
At or e ?

(1) 4 (1) 4
(2) 8 (2) 8
3) 12 (3) 12
(4) 16 (4) 16
Directions : (Q. 26 - 29) ot (W, 26 - 29) _
Which one of the answer figure would occupy afs v mlﬁlilﬂi _“'" W EE At arTe
the next position in the problem figure, if they U W I regtaat A ¥ @ | sl @
continue change in same order. 'qrq'rﬁ |
Q.26. Problem figures W, 26, WA amgfeai
X AlO *|= =] P gn * X AlO *|= (m] I gn *
ZS X A Zs =0 ZS X A ZS =0 25
= S Z A X SZ =9 sz A X Sz 0=
* 0O)= ele ¥la XX @ * Oj= 0 ¥la XX e
Answer figures IW
A X|e * | X Ale X A X|e *|X Ale X
Z% AS Oz A% Z%* AS oz A %
5= 0z =S s 7 S = Oz =S5 S Z
a olX =|le * |0 = (w] o|X =|® * 10 =
(1) (2) (3) (4) (1) (2) (3) (4)
Q. 27. Problem figures W. 27. WH egiaat
13':"‘ [-] E} l!-T 212 Spl 36 A A4 B\ & 'IZ!C"BSB 212 Bp‘ 3le Us'l a4 9v1 []
8 a1 919 1]2 el 2 8 a1 ale 1lz 1|3 5
w T c P T S P v S Z W T C P T s P v 5 z
Answer figures mm
6 1 ' CIEY,. ] CE) 1 CHE 1 ?
2 z 2 5
2 32 3je 6l 8
v L v L Y] L z "
1 2
Mm @ @ (4) (@ Q) @
11 o
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Q. 28. Problem figures V. 28. WA zF: x O [
o *|C
Az clwo o owloa zjz ac|| sz Cf* A clc Ole 4
0 ol z2a ¢ ol | p_clo 2 —
Answer figures FwT A ﬁl
e p— c gjo z ¢l z
c ] (@] Z|0 c|a 4
_ o e 2lc ¢ OfZ ®O[C e0
© e 2zl e DOlz e O|C ¢ O N alw
*  Alx alx  alx A Y b ’A 5 A
m @ e @ (@ 3
Q. 29. Problom flgures W, 29, W
4 0 2[2 a o7 o 33 7 o6 0 4 a 0 22 4 0|7 & 3 7 0|5 6 4
5 ¥ 6le « sl2 & oo als 2 o| |5 w ole « s[2 & ofo b 23 A
O a3 7|7 o aje 4 5|5 6 40 7 2 p 3 7|7 o 3|6 4 8 40 7 2
Answer figuros T aregfeat
4 65 0l|4 7 2[4 & 6|4 7 2 4 6 6|4 7 2[4 5 @l4a 7 2
a9 = 34 W 03 =-» 9|5 =» 0 9 =» 3|4 N 0[3 = 9|6 = 0
> 0 7/ 6 3Jo 7 2(0 6 3 2 0 7/0 6 3o 7 2/0 6 3
(1) (2) (3) (4) (1) (2) (3) (4)
Directions : (Q. 30 - 32) frter (W, 30 - 32)
The first unit contains two figures and the el e & wt amgfat & = Fad yorf ¥ TF

second unit contains one figure and a question
mark. Find out which one of the answer figures
should be placed at question mark.

Q. 30. Problem figures

)|

Answer flguros

0]

et -y i e A el e W T

Iy wur gyt 1w wifwg R I
NGl A A gy fog W w oA @
TN T e )

B ET
T s

(1 (2) (3) (4)

————
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Q. 31. Problem figures W, 31, vy swregfoal

v V| |A \V) Y| IAN VY
v Y A J Y9 s 2 MY 9
P - v » A 4> —of [»n ¢
Answer figures 3w amagfeat
o~ wn oS n W oS
V Vv V > Vv \% \% >
E >t >l L|E A £ >l »lE <L|E A
(1) (2) (3) (4) (1) (2) (3) (4)
Q.32. Problem figures W, 32, Wy amegfiaf
oV ? ||| V| ?
Answer figures INT anggfeat
(1) (2) (3) (4 (1) (2) (3) (4)
Directions : (Q. 33-35) frdw (W, 33-35)

In each of the following questions, four figures | FefeTua wai® Wy ¥ wr aregferat ot mf &,
have been given, of which three are alike In | fari @ = swrsfral forelt W & = & iy
some way and one Is different choose the odd | uz; sregfer firr &1 it T =Y wife

one.

(1) (2) (3) (4) (1 @ (@3 (4)

asm [ Alg’”‘" < A\E
T ERSA T

U aRRT

(1) (2 (@) (4)

13
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Q. 36. Inacertain code DESIRABLE is written
as JTFEQFMCB, how is DIMENSION written in
that code ?

(1)
()
(3
(4)

FNJEMTJPO
FNJEOOPJT
FNJEMOPJT
EJNFMOPJT

Q.37. How many such pairs of digits are there
In the number 75938462 each of which has as
many digits between them in the number as
they have between them when arranged in
ascending order 7

(1 2

(2) 3
(3) 4
(4) morethan 4

Directions : (Q. 38 to 42)

Eight members A, B,C,D,E,F, Gand H belongs
to three families X,Y, Z go for weekend outing
in three different cars I, II, III. Four out of eight
members are females. Members of any one
family travel in different cars. Each car has
atleast one male and one female member. Each
family has atleast two members.

A belongs to family Y and he travels in car III.

D is wife of E and they travel in cars I and II
respectively H is son of B who is wife of G and
they belong to family Z. C is daughter of F who
is wife of A. C travels in car II, G does not travel
with F.

Q. 38. Which of the following group of
persons travels incarI ?

(1)
(2)
(3)
(4)

D.FG
D,EG
D,GH
D,FH

misfas T § DESIRABLE
JTFEQFMCB, ferar <wr &, ?ﬂ;"'ﬁ T %
DIMENSION i @ Terar S ¢

(1) FNJEMTJPO
(2) FNJEOOPJT
(3) FNJEMOPJT
(4) EJNFMOPJT

w37, Wea 75938462 W IH w fEwr 4y
gm%ﬁ:ﬂ%ﬁwﬁaaﬁﬁaﬁthaﬁm
oY F amiet e A forEt wE ¥ 2

(1) 2
(2) 3
(3) 4
(4) 4 9 #Hfu=s

frdwr (W, 38 | 42)

TS I A, B, C, D, E, F, G 79T H 1 qftani
x,v,zﬁmmﬁt:&igi%ﬁqﬁw
IACM-HEAT &I I, 11, 1L & e £ | 311s '
| ¥ 9N uwfeeme §) vl ufaw @ aew
fir=-fa=s & & amn = & uRs we Y
# & UF TR AU UF Wieen e §) s
ufEr § F9 4 #W I gaw

w. 36, famdl

5 - L

t | H, B @1 WfF 6 3 ofe
%W?%m%uﬁﬁnzﬂmmﬁf!
C.F % A F ufix & f ot 1 C e 11
A FA R G, F F Wiy arar T e
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Q. 39. Which car has only two members
travelling init ?

(1 I
(2) 1
(3) m
(4) Torlll

Q.40. Which of following members of families
Y & Z travel in different cars ?

(1)
(2)
3)
4)

F.G
C,G
F.H
C,F

Q. 41. Which of the following members of
families X and Y travel in the same car ?

(1) C,F
(2) D,F
3) C,D
4) FE

Q. 42. Which of the following group of
persons is a group of all females 7

(1)
(2)
3)
4

A BD,G
B,C,D, F
A B EF

B,E,F,D

W 39. fFg ®r o Haer a1 g 3 v H 2

(1) 1
(2) 1
(3) I
(4) Morlll
¥, 40, UfER Y @41 Z @ f&A wew q
SEAT-3E THAI W aTar i ?
(1)
(2)
(3)
(4)

F.G
C.G
F, H
C.F

W. 41, oftam X a1 Y & fF waedl A 0w g
HR o qET & 7

(1) C.F
(2) D,F
(3) C,D -
(4) FE

w. 42. Prefafes aygt & ¥ few o =t wsdt
waw wigen ¢ ?

(1) AB,D,G

(2) B,C,D,F

(3) ABEF

(4) B,E,FD

15
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Directions : (Q. 43 to 45)

The figure (X) in the question items has dots
that fulfil some conditions. Find out a figure
from the alternatives where, if dots are placed
they will fulfill the same conditions.

Q. 43.

(1) (@) (3) (4)

Q. 45.

(X)

PR (R BEB) o F R
3,,1-65'&;()()‘?‘“:r fag A
;“;:Wmﬁ%.mmﬁﬁfjmﬁ
<1 vl = g
. 43,
(X)

(1) 2 @ (4)
W. 44, /;-g E;
(X)
A\ '
)
1) @2 @ (4)
(X)
(1) (3) )

(2)

- - - E—
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Q. 46. In the following problem of
substraction find out the number which does
not stand for MORE.

MOR
_ ORE
222

(1) 8640
(2) 6420
(3) 7531
(4) 9753

Directions : (Q. 47 to 49)

A dice has been shown in four different
positions. On the basis of these positions find
out the face as asked in the questions.

BRPE

Q. 47. Which number is opposite to 1 ?
(1 2
() 3
3) 4
4) 5

Q. 48. Which number is opposite to 2 ?
(1)
(2)
(3)
(4)

o AW =

W, 46, Trefafas e & uoa o #19 O 9o

MORE & ftra waft =t %7
MOR
_ ORE
222
(1) 8640
(2) 6420
(3) 7531
(4) 9753
o (w. 47 @ 49)

TF TR & AR rem-aren Rafwdt ¥ qear
T 1 3 feafrll @ erem wwet # 48 o www
& qART |

Sl

U. 47. WM W N, 3w 1 B faaha & 2
(1) 2
(2 3
(3) 4
4) 5

| W. 48. T | 3, oiw 2 @ fagda & ?

(1 1
@ 3
@) 4

5

(4)

S e — e
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&,
Q. 49. Which number is opposite to 3 ? w. 49.. w1 W
(1) 2 (1) 2
(2) 4 @ 4
@ 5 (3 5
4) 6 4) 6
@ 53)
Dl:t;t'llons:{ﬂ.sotosab - frdwr (9. 50 Qg . gﬁﬁ*
] of the following question some num frefatad , i
are written according to some pattern. Find the aqarR feradt (4] i g« wo AW v
missing number that replace the question mark | fyg @ @A W IqgE I
(?) from the alternatives given. -
Q. 50. o " wso. 5] 21 51
ool 2] [22]53] 18] [17] 7|48 ITG109£]E25319 17| 2 |48
15 13
o] L E ] L=
(m 7 m 7
(2) 25 (20 25
(3) 49 (3) 49
(4) 129 (4) 129
Q. 51. o 51.
12 g8 16 7 25 21 12 8 16 7 25 21
80 207 ? 80 oy .
(1) 184 (1) 184
(2) 210 (2) 210 |
(3) 241 (3) 241 |
(4) 425 (4) 425 !
1 —
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H ! 3 6 1 3
1 5 2 @ 05 3|1 52 05 3
£ 44 I 1 2 4 4 @ 8 7 1
S 5 9 3 5 9
(@) 262 @) 262
@) 274 . (3) 274
4) 320 @) 320
Q3. |15 4 || W 53, |15 o T
33 2 33 2|
27 2 27 2
36 8 36 8
. 32| 7 :
(1) 3 (M 3 =
18] 9 @ 4 18] 9
(2) 4 211 22 | 11
(3) 8 12| 3 ) 8 12| 3
4) 12 (4) 12
Directions : (Q. 54 to 55) frder (W. 54 & 55)
In the following questions choose the correct | 1™ T&T T o=l ¥ MY (X ) & m'ﬂﬁlﬁlﬂ
mirror image of the figure (X) from the | % WEt famew =t F@ Fifww
alternatives given.
Q. 54. E Q. 4. E’
(%) N | (X) o
(1) (2) (3) (4) (1) (2) 3) (4)
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Directions ; (Q, 66 to H7)

In the following questions choose the correct
waler Image of the figure (X) from the
alternatives glven,

Qr ﬂﬂ. ; E
(X)
(1) (2) (3) (4)

Q. 87,

Pbdb

(1) (%)

Q. 88,

Q. 5.

v

kw1 (v, 56 B 57 )
s Py v A AR (X) B e
afwtsen # Tft Pows w1 w Aty

U, 86, ; E
(%)
(1) (2) (2) (4)
v, 87, p
(X)
(1) (2) (3) (4)

Al

|

(4,
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pirections : (Q. 58 to 60)

In each of the following questions, patterns of
circles are used to represent relationships
among different items. Each circle represents
an item. Which of the patterns represents the
relationship among the items given in the
questions.

Q. 58. House, Kitchen, Bedroom

@OO)S
OO
(1) (2) (3) (4)

Q.59. Animal, Insect, Cockroach

@O
(1) () (3) )

Q. 60. Playem, Human Beings, Students

(1) (2) (3) (4)

Directions : (Q. 61 to 65)

There are certain words in Column | which have
been coded in Column Il. However the codes
given in Column Il are not exactly in the same
order as the words given in the Column |. Match
Column | with Column Il and answer the
following questions on the basis of coding

frdwr (W, 58 ¥ 60)

frer wyet A wRrE ¥ g @ T fe v A
warst F Frefua w0 §1 @ 99 @ 9 HB
frefra @ §1 wea o fau gr we & Ty
& W ar g waivia w2

. 58. WaT, T, @A W HAA

DRO

@ (3) (4)
W. 59. WY, WG, T

©aEHO-
(1) (2) (3) (4) .

v. 60. faewdt, wysa, feremdt

DO

(2) . (3)
frdyr (W, 61 A 65)
ww | ¥ e v € TR w1 ¥ O ded
qreT & ferat mar 1 Afe @t 1| ¥ W& |rer
¥ for@ wu avt wuE W | § faw e v @
FW AR T &l FET W F IR W
@y | @ @9 |l & e &1 % S

(4)

pattern. frefafad weel & S St
Column -1 Column - i w5 - = -
NATIONAL qspxzbf NATIONAL qspxzbf
TELEPHONE  ocuzpocm TELEPHONE  ocuzpocm
COMPETITION yzmmchf COMPETITION yzmmchf
SUCCESS ufmfqipof SUCCESS ufmfqipof
VILLAGE kpxgqfuzuzpo VILLAGE kpxqfuzuzpo
PROMISE bvkkfbb PROMISE bvkkfbb
e — E——— e - =
: 7.
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Q. 61,

QI ‘2!

Ql 83.

Q. 64,

Q. 65.

'VICTOR' wlll be coded as
(1) kzmebo
(2) bvufm|

(3)  yzkups

(4) zkymab

'MARVELLOUS' wlll be coded as
(1)  pysufbbpvm

(2) cxsyfkkvpb

(3) cysmnfbpv

(4) xcsyfmmpvb

‘LENIENT' will be coded as
(1) spmzpmn

(2) khsbhsf

(3) mfsnfsb

(4) mfozfou

'SCOURGE' will be coded as
(1) bcuorge
(2) eghuocs
(3) bkpvshf
(4)  pbkhsvf

'Icsxpof’ Is the code of
(1) MOPRISE

(2) ROMPISE

(3) OURLAST

(4) HARMONE

=

7. 61, 'VICTOR' i s e T gy

(1) kzmsbo

2) byufm)
(3) yzkups

(4) zkymsb
7 62, 'MARVELLOUS' &1 Heha AT ¥ firgy
(1) pysufbbpvm
(2) cxsyfkkvpb
(3) cysmnffbpv
(4) xcsyfmmpvb
W. 63, 'LENIENT' %Y Wehat WTaT # feram wmgm
(1) spmzpmn
(2) khsbhsf
(3) mfsnfsb
(4) mfozfou

U. 64. 'SCOURGE' & Waha wrar & feram

(1) becuorge
(2) 'eghuocs‘
(3) bkpvshf
(4)  pbkhsvf

¥ 65. “lcsxpor firw wra #% waa wrar ¢
(1) MOPRISE

(2) ROMPISE
(3) OURLAST
(4)  HARMONE
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Directions : (Q. 66 to 70)

In each question below are given two
statements followed by four conclusions
numbered |, Il, Il and IV. You have to take the
two statements to be true even if they seem to
be at variance from commonly known facts.
Read the given colclusions logically that
follows from the two given statements. Find out

the correct option based on the statements and
conclusions.

Q. 66. Statements :-
()  All cats are parrots.
() No parrot is green.

Conclusions :-

(I)  All parrots are cats.

() Nocatis green.

() Some parrots are cats.
(IV) Some cats are green.

(1)
()
@)
(4)

Only | follows.

All follows.

Only Il and Il follows
Only Il and IV follows
Q. 67. Statements :-

() Some pens are books.
(I1)  All books are rods.

Conclusions :-

() Al pens are rods.

(1) Some pens are rods.
(Ill) Some books are pens.
(IV) Allrods are pens.

0]
(2)
(3)
4)

Only Il and 1l follows.
Only I and IV follows.
All follows.

Only | and Il follows.

il (W, 66 ¥ 70)

faq T Al @ g d GEEE @ W AW
fred 1,0, m w@ v fag g #) oo A
FEel ® WA WA §) AV A WHA 6T
el ¥ W § awl w omaita Frewet w
WA g & are wEl faweq o

W. 66, a&AE
(1) uvi fafeerl ok €1
() HE ft da T T R
e -
(n wf o fafeeal € 1
() HE ot faoet & 7€ € |
() % dn fafeeal & |
(V) %o fafeadl &0 &

(1) aa | freed @@ 2

(2) |t W& ? |

(3) ®aa I Tg I Frepd wet & |
(4) @aa I & v Frepd @@t €

qaa
() %7 W g €
)y o g e ¥
Tremet .-

() st eS|
) ®HBDETEI

(Il) o 7= W&
(Iv) usft 38 47 ¥ |

(1) @aa Il wd | frerd wét €
(2) ®aa | W@ IV frepd @@t €
(3) sft wEl 7 |

(4) waw | @ | Frerd w1 & |

. 67,
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Q. ss.

Q. 69.

Statement ;-
() Al sauces are pickles.

()  Some sauces are ketchups.

Conclusions :-
M Al ketchups are sauces.
()  All pickles are ketchups.

(M) Some ketchups are sauces.
Some pickles are ketchups.

(V)

(1) Onlyllland IV follows.
(@)  Onlyland IV follows.
(3)  Onlyland Il follows.
(4) Onlyland Il follows.

Statement :- _
()  Some frogs are bricks.
()  All bricks are cakes.

Conclusions :-

()] Some_cakes are frogs.

()  Nocake is frog.

() All frogs are cakes.

(IV) Some cakes are not frogs.

(1) Only | and Il follows.
(20 Onlyland IV follows.
(3) Only il and IV foliows.
(4) Onlylland il follows.

Statements :-
().  Alirats are cows.
()  Nocow is white.

Conclusions :-

()  No ratis white.

()  No white is rat.

() Some whites are rats.
(IV) Some rats are cows.

(1)  Onlyland Il follows.

(2) Only Il and Il follows.
(3) Onlylland IV follows.
(4) Onlyland IV follows.

W, 68. dEHA

. 69,

W. 70.

() it wefrl s
(I @Wﬁm%'

foreed -

() it SuerE e ¥
() @ FER, P T
(n =B Fger9d, =il 2l
(IV) &9 FER, FEHE € |

(1) ®a@ Il @ IV fred wet &
(2) waa | @ IV Fred W@t #
(3) @aa | @ I Frewd wet & |
(4) waa | & || Fremd wE &

(- 5[
) FBHFEE
() it € Hem T

forene .-

() %o 359, Hew ¢ |
Iy X R BF deF 7 2
() wht Hew, Fag € |
(V) %3 399, Hew 761 ¢ |

(1) ®ga | @ | frerd gdt & )
(2) %= | w& v frend wdt ¥ |
(3) %aa Il © v frend et & |
(4) ®ad Il wd 1| frsrd wet £ |

qdaqeq
() =t 58 Ty &
g;:}ﬁmﬂﬂ‘ﬁ:?ﬁ%l

() = g8 T 74 & |
() =Y Tz, a7 781 &
() %z o 3¢ #
(V) %% 98 3 |

(1) ®aet | & || frd wat £ |
(2) %@ Il & 1 frd w@t 2 |
(3) %9a 1l @& v frsd Wt 2 |
(4) &=5a | wg v frrd gt 2 |

M
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§ st A
q. 71. How many quadﬂlaterats are there In | % 71, ot
ﬂv:e given figure 7
(1) 10 (1) 10
() 1
(2) 11 2)
12
@) 12 3)
@ 13 (4) 13

u.vz.uﬁnwaﬁm.amranfﬂm,cmr

B means divided by, i <ig 7T D F a7ef 7O & ar 1583C24A12D2

. 72. IfAmeans minus,
c Itiplied by. Then

fs'é'gi'éﬁ:"zsni"ﬂ ;T:T:: m ’ =T | T
(1) 2 (1) 2
(2) 59 (2) 59
(3) 34 (3) 34
@) 5 (4) 5

Q. 73. Inacertain code 'COMPUTER' is written u 73, afy faet Weha wreT ¥ 'COMPUTER'
2s REUVQNPC. How is MEDICINE written in that &1 RFUVQNPC frar wmg o &t wrer o
MEDICINE &I f&e Wa&R @ ?

code 7
(1) MFEDJJOE (1) MFEDJJOE

(2) MFFJDJOE (2). MFFJDJOE

(3) - EFEJDJOM (3) EFEJDJOM

(4) EOJDJEFM (4) EOJDJEFM

25
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Directions : (Q. 74 to 76)

:;'ICh of the following questions a related pair

words is followed by four numberd pairs of
words. Select the pair that has a relationship
similar to that in the original pair.

Q. 74. Effort: Success :: ?
(1)
(2)
(3)
(4)
Earth : Moon : : ?
(1)
(2)
(3)
(4)
Mountain : Height:: ?
(1)
(2)
(3)
(4)

Play : Cricket
Healthy : Vitamin
IlCIiml:- : Mountain
Reading : Knowledge
Q. 75.
Asia : India
Ship : Boat
Sun : Venus

School : Classroom

Q. 76.
Valley : Beauty

River : Water

Moon : Shadow

Ditch : Depth

Q. 77. Five students are sitting in a circle and
facing towards centre of the circle. Ajay is

between Ramesh and Dhiraj. Suleman is left to
. 'Vikas. Ramesh is left to Suleman. Who is sitting

immediate right to Ajay.

W. 75.

frdyr (W, 74 € 76)

ot wa U ¥ Tt L 3 g
& yary it & W g FE T Ty
2 wifey faad g W F ATET WY

. 76,

(1) W& : g

(2) = : 9

(3) ==m : s/

(4) &% : ™
¥. 77. uiw faerdfi v gm ¥ 43 = K
0 & Fx W AR &) o, T awr g @

T ¥ e ) o, P @ wiE e b

T, O & aid ai 1 orew & W @
AT B dar 12

(1) Suleman (1) =
@ Poe (2) i
(3) Vikas (3) fasm |
(4) Ramesh (4) v |
S — e —— —_—
26
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Q. 78. Pointing to a man, a lady sald, "His
brother's father is my grand father's only son".
How Is the lady related to the man ?

(1)  Mother
(2) Sister

(3)
(4)

Daughter
Aunt

Directions : (Q. 79 to 80)

A X B means A is mother of B.
A + B means A is sister of B.

. A+B means A is son of B.
A - B means A is father of B.

Q. 79. Which of the following means P is
grandmother of Q ?

(1) P+Q-R
(2) QXR+P
3) P-R+Q
(4) PxRXQ

Q. 80. Which of the following means P is
brother of R ?

(1) R+Q+P

(2) P+R-Q

(3) P+Q-R

(4) RxQ+P
Q. 81. Rajesh remembers that his mother's
birthday is after 10th but before 17th May. His
sister Radha remembers that her mother's
birthday is after 9th but before 12th May. When
is their mother’s birthday 7

(1) 9th May

(2) 10th May

(3) 11th May

(4) Datainsufficient

(4) ==t
frder (w. 79 ¥ 80) |

AXBW AGd A, BE AT § 1

A+BY aadA BE WET R |

A+B¥ A BRI A ¢ |

A-BY WA, BT far £ 1
w. 79. et ¥ ¥ B o1 faewew vl wear §
frrpas T ?

(1) P+Q-R

) QXR+P

@) P-R+Q

4) PxRXQ
w. 80. Frer o ¥ # ar frwew waidia wear §
fEPR&ETWER ?

(1) R+Q+P

2) P+R-Q

3) P+Q-R

@) RxQ+P |
W. 81. T @ fyew € fF swEt wer @
T 10 W & ;R Wy 17 9§ W UgH g
1 wrafE et @8 T & e € e saE
AT & AL 9 W B W W 12 W W UER
Tt Tt M TRET ¢ ?

(1) 9 w§

(2) 10 ¢

(3) i1 7%

(4) siHe vafa T ¥ |
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:i— 82. Ashok walked 15 km towards North
, en turns left and having walked another 4 km,
@ turned left again and walked 12 km more.

Ow far is he from the starting point and in
which direction ?

(1) 7 km North

(2) 5 km North-East
(3) Skm North~Wés_t
(4) 11 km South-East

Directions : (Q. 83 to 85)

A serles of small letters are given which follow
a certain pattern. However some letters are
missing from the series. You have to find out
the right set of letters from alternatives that can
be inserted into the blanks of the series.

Q. 83. a_bb_baa__bbb_aa
(1) baabb
(2) bbaab
(3) abaab
(4) aabba

Q. 84. a_bbc _aab _cca_bbcc
(1) bacb
(2) acba
(3) abba
(4) caba

Q. 85. bc_b_c_b_ccb
(1) cbeb
(2) bbcb
(3) cbbc
(4) bebe

W, 82,

(2)
(3)
(4)

(M
(2)
3)
(4)

(1)
(2)
3)
@)

(1)
(2)
()
(4)

mﬂ'ﬁ:fﬁﬂ'mi 15 Tl e 4
e i w4 TR werar ¥, AT Framy
& vire s & o 12 R, SO R A oy
orep v @ et 3 e Frw T g

(1)

5 fop. o, STR-UfTEd

11 fr, <o

fordyr (W, 83 ® 85)

w or ol w guen & W ¥ W uw
fafyer 7w & &1 B oTER TN & T ¥ fag
y fremedt # A Mgl T TH W WYE wifey
fordy fraw et @ giE F T S

W. 83, a_bb_baa__bbb_aa

baabb
bbaab
abaab
aabba

. a_bbc _aab _cca_bbcc

bacb
acba
abba

caba

W. 85 bc_b_c_b_cch

cbcb
bbeb
cbbe
bcbe
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Directions : (Q. 86 - 87)

Figure (X) is embedded in one of the given four
figures. Trace out the correct alternatives.

frdyr (W, 86 - 87) R
fax (x) frw g ww ferdt & A UH H A
mmmmtlmmm'

Q. 86. % W, 86, %
(X) (X)
Answer figures I Hﬁjﬁlﬁ
ar I s | R - e g S eh=
(1) (2) (3) (4) (1) (2) (3) (4)
[ =
(X) . (X) .
Answer figures I e fear
7 HEET
L A
(1) (2) 3) (4) (1) (2) (3) (4)
Directions : (Q. 88 to 89) firdwr (. 88 ¥ 89) |
In each of the following questions a design/ oot ww W O T frar
is given. O t is missing from SrfereRE/Ag
mr:slzg.\::lectn ‘:hs:grt‘:rr:latlve which will | ™1 § 3 famer # g & f@ @ w
complete the design when placed on the | T@3 v arfyrea=r/A9 ® QU & I |
missing area. . '
Q. 88. '\ - W. 88,
5.
Main Figure T g
: Answer figures I Amepferat
N A N
N / A/
29
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Q. 89. AN w. 89, r v
A &4
Main Figure f=- & A |
_ = IwT gt

: Answer figures

g g
a q
3] 1 [G] [o
(1) (2) (3) (4) (1) (2) (3) (4)

Q. 90. How many squares are in the given |y g0t 7§ amregfar & T S GEAT A gAY ?
figure ?

(1) 16 (1) 16

(2) .17 (2) 17

(3) 18 (3) 18

(4) 19 | (4) 19
#_ - — . h ——
30 ’ .
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Questions : 91 to 180

Q.91. At a metro station a child uses an
escalator to go up, the time taken was t, when
he is standing on moving escalator, andt when
he walks on the same moving ascalatur The
time taken when he walks up on stationary
escalator, will be -

M
(2)

(t,+1)/2
(t,-t)/2
(3) g/t +t,
@) tyl (-t

Q.92. Earth moves around the Sun in an
elliptical orbit, which one of the following graph
most closely shows the variation of kinetic
energy of Earth with time.

PART-Il (4T77—2)
SCHOLASTIC APTITUDE TEST
Mra AfgRy wheor

%———

V. 91. T& ¥ RYA W & Aed @aned
wifgat & WA | I 9 §) ww 3% ged
sraear ¥ Wifgdt w @y gEw Far A € A
IW AW t T €, ofit W= Ay werr orawan o
wfeat o = ot werar £ @ 3@ 9ug b w
{1 afy 7 et v ¥ w@d 9 A @ g
Fr -

(1) (t,+t)/2

(2) (t,-t)/2

(3) tt/(t+t,

(4) tit/(t,-t,
W 92. gt gd % wmt ol did geren war
TR T {1 3T W B W W gel 3 vh

Fal W Ufad @ U9 % WY e e iy
WAt

(1)

t—> t—>
(3) (4) (3) (4)
! 1 ! !
KE KE] K
I | | I
L \_t=> T—> \_t=
31 o
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Q.93. A wooden block

With a coin is placed on 7 B

its top, fioats in water as fa
shown in figure. Various b
levels are as shown in

figure. If the coin falls in

water, how the level
changes.

(1) a decreases, 'b' increases
(2) 'a'decreases. 'b' decreases
(3) ‘'a'increases, 'b' increases

(4) ‘'a'increases, 'b' decreases

Q.94. A student has two wires of different
resistances R, & R,. He uses these two wires in
combination to have two more resistance
values R_ (series), R_ (Parallel). Study the V-I

graphs and identify the resistance values, A, B,
C&D.

I O

w
A

(1)
(2)
-(3)
(4 R, R, 2

n

W
e
b=

ha
w

T D®» D D P
o I I I
oD T D DO
D I D

q;ﬂaﬂfﬁ ;_
-’ KA
%mt.wﬁ ; ;
¥ dear 1 faf= @ fox
3 vyt 1 afx fore el -
 fire g A et vt ¥
=1 gftad g

(1) @ wem #, v T ?

(2) 'a wem &, b WM &

(3) ’a‘m%- 'b'm%

(4) ‘a TG ¢, b

W. 93.

. 94. U% faerdi % U R, R, "H & J@
i ar & g 3% 3 Fo= wae & yam
(& 9f 3 WA R, ( S(fT) 4T R (WO )
WA HTAa §1 V-l TR HT T & W
wieiral & |Et WA A, B, C 99T D @Y Ug=mL |

R
v R

I

A°B ¢ D
(1) R, B, R, R
(2) R, R, R, R
3 R, R, R R,
(4) R, R, R R
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Q.95. Study the following ray diagrams

for a biconvex lens and choose the correct
statement.

]

Thee P
; ==

= -

(1)
(2)
(3)
(4)

A & D are focus but not B & C.
A, B & C are focus but not D.

B, C & D are focus but not A.
AllA, B, C, & D are focus points.

Q.96. A 15kg monkey
hangs from a rope and
passes over a frictionless
pully. The other end of the
rope is tied to a 15kg
bunch of bananas. The
monkey sees the bananas
and begin to climb up to
the rope. As the monkey
climbs up, do the bananas
move up, move down or
remain at rest and does the distance between
the monkey and bananas gets bigger, gets
smaller, remains the same as measured from

lower end of string.
(1) moves down, distance decreases

(2)
(3)

moves down, distance increases

moves up, distance remains the
same !

moves down, distance remains the
same

(4)

V. 95, e Iwde o @ fog Frer fevor st
T AT W WE HE G -

e

(1) A9DwHY fig ¥ WgBaC 7l
(2) A,Ba(:mimﬁg?mamﬁl
(3) B,CIDHHH fag § WgATEI
(4) WA, B, C, 9D WiFq fig ¥

W. 96. 15 Tereimm gemm
& &3¢ T TEa e &
R
w8
15Fﬁi’mmam;ﬁ%§
T T e ¢ W

& 3 § T = o
I & 3 &1 A1 SR S
¢, @ T e @ e
FY TG, = Iaew qar
Torrm o &t TR Ao Aaw 7 D * ol
it & e it & wiy @9 e, w9 g
AT T9Er §E w@A?

(1) = s@m g g we S
(2) 4 wrEm g g 9g SET
(3) R M 9 g wuE w
(4) 2 smm 9 g I @

B e
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Q.97. Ram and Shalu the two siblings were
talking to each other over a point, that can a
virtual image be photographed by a camera.
Shalu says it can not and provides the reason
that only real image can be photographed by
camera because for real image, rays are
convergent and thus gets pictured on a screen
and for virtual image rays are divergent and
cannot make image on screen. Ram said that
this is possible. He stated that by treating virtual
Image as an object, it can be photographed as
real image.

Shalu version is correct

(1)
(@)

Discussion between them is
meaningless

Shalu could not understand the
problem

(3)

Ram version is correct

(4)

Q. 98. A point source S is placed midway
between two converging mirrors having equal
focal length 'f' as shown in figure. The value of
'd’ for which only one image is formed is :-

d
—&—
S

f, f
2f, 1
2f, 2
2f, 4f

(1)
(2)
(3)
(4)

(4) T F1 T IF ¢

W, 98, dY Uw WWH WrehE gt f A A
Fduit & wer o us Py W @ gen € (W
fir forr ¥ faamar e §) ww wifew w9 @
W'd'ﬂ'ﬂﬁﬂ'ﬂ -

d
——
S
(1) ff
(2) 2ff
(3) 2f 2
(4) 2f 4f

———
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emergent ray
have.

(1)
()
(3)
(4)

Q. 100. Column | gives some devices and
Column Il gives some process/qualities or in
which the functioning of these devices
depends. Match the entries of Column | with

that of Column Il. Choose the best matching
alternative.

Column |

the incident ray AB, it must

V. 99. @ fowr am urayit e R

mm: H1.pap33u4ﬂﬁﬁwﬁ't
ﬁmfmﬁaﬁfmmwmmmaﬁ

HAE WHiaT § aan finta faor oD amafia faor
T wa-

(1) pri=p,,
(2) MHi=p,,
(3) Wy=p,,
(4) Hi>H,,

¥. 100. e | § 9@ 97 faw 7§ qur wem
I ¥ % vawmr § f w39 96t o
flt w7 1 wom- T W T e
FEW-Il § FHT 7o waifiw v frwe @5
T '

Column I H T | HEW Il
A. Bimetallic Strip P. Radiation from a hot body 5 &
B. SeamEngie Q. Energy Conversion A SRR ol P TG §
C. incandescentBulb  R. Melting B. W19 M Q. Fi e
D. Electric Fuse S. Thermal Expansion of Solid | ¢, @y o R. fogem .
T-*“‘“E”‘m D. foem W= S. 3| I I wER
U. High Resistivi _
? T. 3ffe+e \
U. 3=3 fatsa
(1) ASP.BQ CP DU (1) ASP BQ CP DU
(2) ARS BQ CQ DRU (2 ARS B-Q CQ D-RU
) AST BQ CRQ DRU (3) AST BQ CPQ DRU
@). ASU BR.CRQ DR 4) ASU BR CPQ DR
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Q.101. In the question given below, a
:htenuntofasurﬁonm)lsglmnandfnllowed
' Y a corresponding statement of reason (R). In
he given statements choose the correct
answer.
(1) If both assertion and reason are true and
reason is correct explanation of assertion.
(2) If both assertion and reason are true but
reason is not the correct explanation of
assertion
(3) Assertion is true but reason is false
(4) both assertion and reason are false

(A) ALNICO is preferred for making perma-
nent magnet

(R) Magnetic keepers maintain the powers
of permanent magnet.

Q.102. Three wires of same material are
connected in parallel to a source of emf. The
length ratio of the wires is 1:2:3 and ratio of the
area of cross section is 2:4:1. Match the entries
of column | with that of Il
Column|
A. Resistance Ratio
B. Current Ratio

C. Power Ratio

Column Il

A-R, B—P, C—P
A-R, B—R, C-P
A—R, B—R, C-S
A-P, B—~R, C—P

(1)
(2)
3
(4)

Q.103. A building caught fire and fire
extinguisher was not available. Sodium
bicarbonate was sprinkled to extinguish the fire.
This was done because

(1) Sand was not available in the building

(2) Sodium bicarbonate changes to liquid on
heating which extinguish fire

(3) Sodium bicarbonate absorbs oxygen.
(4) On heating sodium bicarbonate gives CO,

: v ¥
7. 101, fag e F wEA P W fera
ot &1 e T ST T W T R
wifeq! . .
(”qﬁmaﬁﬂfﬁﬁﬁ,aﬂtﬁm
aﬁqﬂmmé|
(2) afx Fo q 7@ 3 3 o, I T
1 gE =ren T8l H
(3) FYA T & TG T ITH I
(4)Wﬂﬁ#§ﬁfﬂ“ﬂﬂ%
(A) wm%ﬁqﬁaﬁﬁﬁmﬁm
&t st &
(R) A HI T [TEE &t i 5
e & g
W. 102, U |WM 1 & d a1 Wit w9}
feet fava & o9 ¥ & & ¥, ofy ==
TS T A YT 1:2:3 TUT AL FE
8T T AT 2:4:1 BN Trew-1 N g0t qivmad
= Fwem-1l ¥ e Fifa

Column | Column il
A. FfEN S P. 6:6:1
B. YW 7@ Q. 1:6:6
C. wifqerl %1 R.1:1:6
S. None

(1)
(2)

A-R, B-P, C-P
A-R, B-R, C-P
(3 A-R, B»R, C-§
(4) A-~P, B~R, C~P

:&-Eﬁﬁﬂmﬁ AT T W Hﬁ’l!ﬂ";

mm$$$ﬂgﬁm?

(1) e & ¥ 78 ot | ’

(2) Hfeam TFmERe wf & g § I

mﬁﬂmm%ﬁqﬁmiﬂﬁi'

(3) Tfeam A sraom F
FEa ;

( + g
4) ™ 13 T Wi awaEie €O, W °
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Q. 104. Which of the followi
mixture

(1) Sand

(2) Chalk Powder
(3) Smoke

(4) Air

ng is a homogenous

Q. 105.Rani dropped a metal piece "A’ in the
solution of other metal 'B'. After some time a

new colourless compound 'C' is fo ed
and C respectively can be med. A8

(1) Mg, NaCl, MgCl,
(2) Cu, ZnSO,, CuSO,
(3) Mg, CuSO,, MgSO,
(4) Fe, ZnSO,, FeSO,

Q. 106. The correct order of different types of

coals in increasing order of percentage of
carbon content is

(1) Lignite < Peat < bituminous < anthracite
(2) Peat < lignite < bituninous < anthracite
(3) bituminous < anthracite < peat < lignite
(4) Antracite < bituminous < lignite < peat

Q. 107. Which of the following is the most heavy
(1) One mole of H,o
(2) One mole of O,
(3) One mole of H,
(4) One mole of NH,

Q. 108. Number of electrons, protons and
neutron in an atom of sodium (,,Na®) is

(1) 1, 11,12
@ 1,12, 11
(3) 12, 11, 11
(4) 12, 11, 12

W. 104, fre & | 97 wwlt fasror &1 3qgTor
2

(1) fad

(2) =% REEt

(3) yam

(4) a7
W. 105, Tt ¥ U& 1Y A" & 9@ U A7 61g
'B' & faem o 3w @t uE T R 3|
'C’ &I AB,C wUY: B WA Tl

(1) Mg, NaCl, MgCl,

(2) Cu,2nSO,,CuSO,

(3) Mg, CuSO,, MgSO,

(4) Fe,ZnSO,, FeSO,

W. 106. TR & fafe= =af = = Iuftem
FET &t ufvE @ e W wgar W gm

(1) farme < iz < fagfaTm < carme

(2) Y2 < farme < fagfirm < wimre

(3) fagire < TRz < 92 < fammse

(4) TumwERe < fagfirm < famme < 4=
w. 107. et % @ o vl Wit €

(1) HO® @& A

(2) O, # T UM

(3) H, ¥ @ H

(4) NH,#1 & 9/
. 108, AfEa™ (,Na=) B & WA ¥ gaer,
WEH quT g &t wer €

(1) 11,11, 12

(2) 11,12, 11

(3) 12,11, 11

(4) 12,11, 12

e —————
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Q. 109. Match Column | with Column Il

Column | Column Il
(Main Acid Present) (Fruit/Vegetable)
(a) Citric Acid (i) Amla
(b) Oxalic Acid (i) Citrus fruit
(c) Ascorbic Acid (iii) Curd
(d) Tartaric Acid (iv) Tomato

(e) Lactic Acid (v) Unripe Mango

(1) a-(iii), b-(iv), c-(i), d-(v), e-=(ii)

(2) a-(ii), b-(iv), c-(i), d-(v), e-(iii)

(3) a-(v), b-(i), c-(ii), d-(iii), e-(iv)

(4) a-(i), b-(v), c-(ii), _d-(iv}, e-(iii)
Q. 110. Reduction means

(1) Removal of hydrogen

(2) Gain of electron

(3) Addition of oxygen

(4) Loss of electron

Q. 111. Threads of the polymer are made from
polyamide and is used for making climbing

roaps, seat belts and socks. This is
(1) PV.C.
(2) Nylon
(3) Terylene
(4) Rayon

Q. 112. When gas 'A' is passed in a colourless
solution 'B' an insoluble compound ‘C' is
obtained. If the gas is passed for a longer period
a clear solution of ‘D' is obtained. On the basis
of above observations, compound A,B,C and

D respectively are |
(1) CO,, CaCoO,, Ca0, Ca(OH),
(2) SO,, NaOH, Na,SO,, NaHSO,
(3) CO,, Ca(OH),, CaCO,, Ca(HCO,),
(4) SO, KOH, KHSO,, K,SO,

v 109.3?!1““"'%"“%%

S FEW ||
(Fafe §E <) (T}
(a) TTEfEER 3 ()
(o) ST (i) foga wa
(o) T (iii) <&
(d) e T (iv) AT
(e) AfFTE2 (v) F= 3

(1) a-(iii), b-(iv). c-(i), d-(v), e-(ii)
(2) a-(ii), b-(iv), c-(i). d-(v). e-(iii)
(3) a-(v), b-(i), c-(ii). d-(iii), e-(iv)
(4) a-(i), b-(v), c-(ii), d-(iv), e-ii)

9. 110, 3T=IaA T WA &
(1) EEgEA F T
(2) A & AH B
(3) TS & e
(4) ToaRA 1 @ E

W 111, 30 agEE @ 10 uiehgags ¥ o
o aE TR Ted, e dee @ o i
wgE e §1 9E §
(1) 9ttt
(2) TrEA
(3) et
(4) @A
. 112, 9@ & e A" w5 B
| T A § A U srgeryite ward ' W@
ﬁm%nwﬂwaﬁaﬁmﬁwm*
waTd ‘D' T fera e gar 1 SEH
ITAEIFT H UW T df AB,C AN D
WA §)
(1) €Oy, caco,, cao, Ca(OH),
(2) S0, NaOH, Na,SO,, NaHSO,
(3) €Oz, Ca(OH),, cacO,, Ca(HCO
(4) 80, KOH, KHSO,, K,SO,

p—

f

%
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Q.113. The correct order
_ of
substance in Increasing order of th::: l;:v;slng

(1) Lime water < acid rain <

antrie kst
wakor gastric juice < pure

(2) Gastric juice < acid rain <

ure water < |
G P ter < lime

(3) Gastric juice < lime water <
< acid rain PAire water

(4) Acid rain < gastric juice < lime waler < pure
water

Q. 114. sthat happens to the colour of litmus
paper, when it is dipped in acid

(1)  Blue colour changes to red
(2) Red colour changes to blue
(3) Blue colour remain unchanged
(4) Red colour changes to orange

Q.115. A bird that migrates to India during
winter is

(1)
(2)
)
(4)

Q. 116. Plastid that give different colours to
flowers and fruits is

(1)
)
(3)
(4)

Q. 117. Which of the following is the mixed type
of gland ?

(1)
()
(3)
(4)

Common crow
Indian sparrow
Dodo

Siberian crane

Chromoplast
Chloroplast
Leucoplast

All of the above

Testis
Ovary
Pancreas
Adrenal

W. 113, e vardl & pH WF & AU WX WET
WA W W

(1) =3 %1 9Ft < 37T 991 < STHEE
<‘.ﬂ3tﬁ=ﬁ

(2) IMWE T < and 99 < Y& I
-:?Tﬂflﬁ?

(3) A @ < I H IA < & T
< v aui

(4) e a9 < AR W < 4 H IHI
<§1¥‘4Fﬁ

. 114, W& U& forewa ot @ anet ¥ g@W €
a3 T § T wweE I ¢

(1) e T A § 75 ST el

(2) o I i § 9<a S 2

(3) ien @ # FE KT T sl

(4) o I ot & § a7t o 2
g. 115, Us Ugt At wEl § wra W omew €, AW
|

(1) =¥sm

(2) v fafea

(3) =t

(4) wrEafer 9

w116, Wfes A o @ B @ i o v
FTa e, awe -

(1) W

(2) FARERE

(3) TR
(4) ST g+t

7. 117. = ¥ & 7 & fufdm wer 7t iy
2

(1) 3uu

(2) 3fsd

(3) 3mNE

(4) =

————ee e

39

Scanned by CamScanner



Q. 118. The process of fertilization Is shown in
the following diagram

Which among A,B,C,D will unite to
make the number of chromosomes 46 ?

A,B&D
A&D
B&D
A,C&D

(1)
(2)
(3)
(4)

Q. 119. Which of the following Is not a root ?

(1) Sweet Potato
(2)
(3)

(4)

Turmeric
Radish

Carrot

Q. 120. In a pond water several tadpole larvae
were swimming for many days but did not
change in adult frog due to :-

(1) Deficiency of growth hormone in
~ tadpole

Deficiency of nutrients required for
proper growth

(2)

Deficiency of lodine in water

3
(4)

Deficiency of calcium
phosphorus in water

and

u. 118, Prefates fax § Fi= wfiesm =
Zgitar T &

fr=1 AB,C,D ® ¥ TrEah §gF i w
TUTET T WEAT 46 EWt ?

(1) A,B&D

(2) A&D

(3) B&D

(4) A C&D

w19, Freafafear ¥ d s wg i & 2

(1) g
(2) T
(3) et

(4) TR

W. 120, U " & it ¥ arves 2eure el
w7 7 W R % A F ao dew o
ufiafia & & & wife -
(1) =i ¥ ofg i =t o
(2) 3 e = forg s @l @
e Y - .
(3) 9t o smErER # w9 2

(4) ﬁﬁﬁwammmﬂ
w9 2
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| membrane. The cell ‘X' Is called

' Q.123. A milkman's milk was tested for the

P T T T TP T

a.121. The follwing graph shows the number

of organisms according to thelr type

;

Z

t

o

L

L

o

8
SLIALlB]|c
o

TYPF OF ORGANISMS

According to the graph which of the
lollowing option Is correct 7

(1) A-Grass B-Goat C-Lion
(2) A-Goal B-Grass C-Lion
(3) A-Goat B-Lion C-Grass
(4) A-Llon B-Goat C-Grass

Q.122. A cell "X’ Is devold of true nucleus and
Is without endoplasmic reticulum and Golgl
bodies. It has respiratory enzymes on Its cell

Plant Cell
Animal Cell
Eukaryotic Cell

(1)
(2)
3).

(4) Prokaryotic Cell

presence of adulterant. The addition of few
drops of lodine In the sample of milk changed
the colour of milk to blue black. What does it
Indicate 7
(1)
(2)
(3)

milk was pure

milk was adulterated with urea

milk was adulterated with soyabean
power

(4) milk was adultered with starch

W. 121, Profafos o wofal @ 9@ I
WY % srar awien §

= e

THEE F1 5677

AllBI|cC
WF % R frefafes & @ w9 A
T &t & 7
(1) AWE B-aFd C-IR
(2) AT B¥MW CIR
(3) Aa®ll B¥YR  C-HH
(4) A¥R  BAHD C-HE
V. 122, T ®imE X ¥ dgw T € oo
v Yerentve Hegmm 7 mettata ot
1 yed yawe o wiftre fireeh ww fiaw #)
TITITERT X' Y FHET AR
(1) 9=y wifyr
(2) g ifer
(3) gfEE FifmE
(3) WEhfER =iferEm

W. 123, U& quET & qu W faemae war sy
& foe ot sta At T qu R TR A A
43 s wt Tl v, fae 39 @ v Hrew
T B T 3WE ww gftomy e

(1) PIT® A

(2) 3¥ o gftm #1 fiemEe of

(3) 39 A WraEe IR § fidmEe ot

(4) 39 4 W TEe #) fyeme ot

”‘
| |
{
|
|
1
{

e —
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Q.124. A person
. has bleeding gums and
delayed wound healing. In your opinion which

of the followin
g group o
re i hic di] group of edibles are required

(1)
(2)
(3)
(4)

Potato, rice and maize
Lemon, orange and amia
Spinach, carrot and radish

Milk, meat and egg

Q. 125_. According to 10% law, in a given food
chain if the amount of energy available with 4

trophic level is 8KJ, what will be the energy
available at I* trophic level ?

Food Chain
Grasshopper Frog Snake

(1) 80KJ
(2) 8000KJ
(3) 8KJ

(4) 80OKJ

Grass Hawk

Q. 126. The cost of diamond varies directly as
the square of its weight. A diamond weighing
10 decigram costs Rs. 8000.00. If it is broken
into two pieces, whose weights are in the ratio
of 3:2, then the loss incurred is

(1) Rs.3840.00
(2) Rs.3960.00
(3) Rs.4040.00
(4) Rs.4160.00

Q. 127. If a, b, c are in continued proportion,
then on simplification, the expression

[(b-a\+(b+a:| reduce to
b-c) b+0}

(1) a

(2) b

3) c

4) 0

V. 124, TE S & TGS W G 30 ¢

siree § Prefafen § § 67 W@ v

E @ aifta AV ¢ ?

(1) 3], T S TH
(2) g, de i it
(3) I, MR AT gel
(4) 39, 7 3R siE

W, 125. 10% Fraw & @R, U& & 7 amy

gfEen ¥ 4 &R W faemm s afy sk ¢ &

I T wT femaelt S faermm gt 2
ATEN e :
e fegmr Wew W@ aw
(1) 80KJ
(2) 8000KJ
(3) 8KJ
(4) 80OKJ

. 126, § N Ew T WK B @ @ HAH
1 10 Ieium @ @ A F g 8000.00 TR
1 aft 7 T Dzt ¥ A o R

T ATAA 3:2 § A T WHR § el w
- (1) 3840 % '
(2) 3960 =.
(3) 4040 ®.
(4) 4160 .

¥. 127. Af% a,b, ¢ WA wHTUT &, @ 7@
FE W T

L R
b-c b+c

(1) a

(2) b

(3)c

(4)o
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0.128. What s the valye of

V5.76 +Y0.0576 +40.00037¢ + V0.00000576 9

(1) 2.04

(2) 2.604
(3) 2.6604
(4) 2.6664

0.129. In a class of 60 students, if 25

_ ) offe
Mathematics, 30 did not offer Biology andr;g
neither offer Mathematics not Biology, then how

many students offered Biolo
Mathematics ? gy but not

(1) 25
(2) 20
(3) 15
(4) 10
Q.130. If a o< (b+c), b o< (c+a) and ¢ o< (a+b)

and |, m and n are respectively constants of
proportionality, then the expression

| L n
I+1 m+1 n+1] igequalto
l+m+n
() (+D(m+D(n+1)
I mn
@ (+D)m+)@n+1)
3 1
I +m+n
) Im~+ mn+nl

Q.131. The number (97°- 43°- 54°) has no
factor other than

(1) 97 and 43

(2) 43and 54

(3) 97,43 and 162
(4) 97,43 and 54

Which one of the above alternative is true ?

W. 128,

5.76 +/0.0576 ++/0.000576 + v0.00000576 ?
WA TR ?

(1) 2.04

(2) 2.604

(3) 2.6604

(4) 2.6664
W. 129, 60 BT @t wHaw ¥ afg 25 7 W
fawg forar &, 30 % <fa-fagm & forn & o
20 ¥ 7 9 nftra it 7 S fagm fawa fow €,
@ fee ot ¥ <fe-fage fawg @ forar #
T Tfora fawa =@ fovam ¢ 2

(1) 25

(2) 20

(3)15

(4) 10

W. 130. afF acc (b+c), boc (c+a) 3R coc (a+h)
T |, m 3 n gHHwr: WA & ferian &Y, A

( )
Frefafas § & fres stac &2
[+m+n
(D T+Dm+ D@+
{mn

@) T ym+ @+
(3)1

{ + m L
I+1 m+1 n+l

l+m+n
(4) Im+ mn+nl

W. 131. §@&AT (97°- 43°-54°) & Fafafaw 2
fiftam = a1 U vy T

(1) 97 a41 43

(2) 43 91 54

(3) 97, 43 A1 162

(4) 97, 43 Tu1 54

Iuda ¥ A S ur fawer wdt 2

; 43
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2. 132. Pisa pointonthe side AB of the AABC
uch that ZACP = ZABC.ifAC=20cm,BC=15

irlr:l?and PC =12 cm, then what is the length of

(1) 12ecm
(2)
(3)

(4)

15cm
16 cm

19 cm

Q. 133. AABC is egqilateral triangle with its
sides equal to 6a units. AX is a line parallel to
BC. Pisapointon AX. From Palineis drawnto
intersect AB, AC and BC produced in points Q,
R and S respectively. If PQ = QR = RS, then what
is the length of BR ?

W 132. AABC &I ST AB W & Ty P gq
qsr & fm ZACP = ZABC. Af& AC =20 Hij,
BC = 15 &, @41 PC =12 |4, q AP
e Fm E ?

Cc

A P B
(1) 12 g4,

(2) 15 g4,
(3) 16 THL.
(4) 19 9.

¥, 133. AABC U= wwag frge &, famat s
6a 3HTE = §1 AX TF T@T BC F HURH §1P
s fag AX W #1 P @ T T Eiet g,
S AB, AC @47 BC &t #W¥l: Q, R @41 S
feigait W @med #1af PQ=QR=RS A BR
TS w4 ?

. P A X 5 < P A X R
Q Q
R R
S S
B & B C

(1) a~26 units (1) a V26 3HE

(2) a 28 units (2) aV28 3%

(3) av31units (3) a V31 T8

(4) a <33 units (4) aV33 o8
__—————___— ____-——-""__-';l"-r.‘
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|
BC are respectively 3 nndf ed at B. If AB ang
what is the length of Bp 2

E

A

3

B 4

(1) V63 units

(2) V65 units

(3) V67 units

(4) V69units
Q.135. Two equal circles touch each other at
the point O. A larger circle with centre O
circumscribes these circles touching them at
points A and B respectively. A third circle

touches each of these three circles as shown
in the figure.

If the radius of the largest circle is 6 cm, then
what is the radius of the third (smallest)
circle ? A

(1) 1em B
4

(2) 3" cm
5

(3) 3 cm

{4y 2 em

U. 134, AABC & wwalwr fi@ &, <ABC
e ww wwenwr 41 afs AB aw BC W
Al HEY: 3 q°T 4 3EE &, °f BD &
TEE wTt? E

A

3

B 4 C

(1) V63 7@ré
(2) V65 3975
(3) V67 3978
(4) V69 T=TE
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Q.136. If a conical cup contains water equal

to -;— of its whole volume, then what is the ratio
of the height of the cone to the depth of the

water ?
(1) 8:1
(2) 2v2:1
(3) 2:1
(4) 4:1

Q. 137. Find the value of ¢ for which the
polynomial 2x*- 7x* - x +c is exactly divisible by

(2x +3).
(1) 7
@ 1
(3) 19
(4) 21

Q.138. A man walking at 4km/hr reaches his
destination 6 km away late by 2 minutes. If he
walkhs at 4%km/hr, then how much early will
he reach the destination ?

7. 136. ﬁwmﬁﬂ?mﬁm

Wﬁﬁwwm qT 3,
amaﬁﬁ‘?wwﬁmwm
e ?

(1)8 :1

(2)2V2 : 1

(3)2:1

(4) 4 :

w. 137. cairaﬂﬂﬁ 7 witaq fowa fog
TEUE 10T -x+C =eh (2x +3) '&‘-'ETEU
ferwfora &1 T €1

(1)7

(2) 1

(3) 19

(4) 21

W. 138. qamn’uﬁrﬁmmmﬁnaa
T 6 fadlt g% orw Tiae wH W 2 firge 4
ﬁu@mmuﬁ'ﬂmﬁlﬁmaﬁmﬂa
o, 1 9% A T UT. fRae et qge ?

(1) 4min. (1) 4 f2
() & (2) 6 e
(). @ mik (3) 8 fire
(4) 10 min.
(4) 10 f =
Q. 139. Ifa+TlT-=3,thena‘*-‘—lr.isequalto W. 139, afg a _1_23 'T_ﬁaﬁ__l_ =1 °F #A
& 2 ! “
(1) 8V5
(1) 8s
(@) 14415 (2) 1445
(3) 165 (3) 16V5
(4) 124V5 (4) 12445
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0. 140. If the sum of first natural numbers is

+ 1
,’LEZ’J » then what is the sum of first odd
patural numbers ?

1) nin+1)

4
(2) n(n+l)
(3) o
(@) (n+1)

0.141. i x +y +z=0, then the factors of

(x+yP+(+2+ @ +x)
(1) 3+ (v+2) (z+x)
(2) -3x:z
(3) 3xyz

(4) xyz
Q.142. i there are n numbers of which one is

1 1
G;u;- l)andallntheure ~ +then the average

of these numbers Is
(1) 1

2
@
(3) n
(4) n*
Q.143. A person bought a certain number of
books for Rs, 8O0. If he had bought 4 more books
for the same sum, each book would have cost
Re 1 less, then what is the price of each book ?

(1) Rs. 10
(2) Rs.8
(3) Rs.5
(4) Rs.4

. 140 uﬁw@ﬁrrwmmw
102 1) gy, e P s TS T
T v g ?

1yt

(2) n(n+)

(3)w?

(4) (n+1y
w, 141, afg x+y+z=l!,?h

x+yP+(@+2+@+x) ® RIELCRES

g ?

(1) 3x+y)(r+2)(z+x)

(2) -3z

(3)3xz

(4) vz

W 142, uﬁnmﬁ%m(""*nl-l)t
aflr arg wit % £, @t 31 wwei w1 e

(Average) =T & ?

(1)1

(2) +

(3)nm

(4) w?
U. 143, U& &Afaq 3 Y T 806, ¥ @l |
iy 30 3o & T ¥ 4 e orfue wdfidt
B, O U O & 0T 15, & g6, Al
T [ e g7

(1)10 &

(2)8 %.

(3)5 =

(4) 4 =
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Q. 144. Some liquid soap is purchased at the
rate of Rs. 16 per litre. It is diluted by adding
Water and sold at the rate of Rs. 20 per litre. If
this results in a gain of 50%, then what is the
ratio of soap and water in the mixture ?

. wier &tz &%

144, P WA WA 167 x
& e 1 T S 32
<& 20, o ot A T AA MY 1oy
Wmsoﬂfoﬁmﬂ“‘t'ﬁﬁmﬁw‘ﬁ

g ?
(1) 1:5 aeT art &l
1)1 :5
(2) 3:5 (1)
3 (2)3 :5
5:3
) (3)5 :3
(4) 5:1 45 : 1 |
Q. 145. APisamedian of aAABC. If ZPAB=90°, | &, 145, AP fedl AABC @l 117'-'1' wrfeaT &1 afy
then which of the following statement is true? | pag_gg°, frofafea & | Codk: i
(1) AB?- BC? = 3CA? e )
- BC? = 3CA?
(2) BC?-CA?=3AB? (1) AB? BC
2 2 (2) BC?*-CA?= 3AB?
2 _ -
(3) CA?-AB?=3BC (3) CA?- AB? = 3BC?
(4) BCZ - CAz = EABE (4} BC'Z . CAQ = SABE
Q. 146. Treaty of Amritsar was signed between | . 146. Jgaat @t |ty 3 [ Hda g
(1) Maharaja Ranjit Singh and British (1) TersT g f5E e L D
(2)- Maharaja Gulab Singh and British (2) WerrST A fifg 3 i
(3) Maharaja Dalip Singh and British (3) TERTT e fie o i
(4) RaniJindan and British (4) T fori .
Q. 147. Dastak was the policy of W 147, T St o
(2) Signature of VIPs (2) TEel TENET
(3) Policy of free trade (3) &e =R F A
(4) Signing of economic policy (4) s A 3 TR
Q. 148. Charter Act was renewed after W. 148, WY Uae A aet & arAa W
etentor femar e ar
rs
(1) Syea (1) 56
(2) 10years (2) 10 7
(3) 15years (3) 15
(4) 20years (4) 20 =d ___
e
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0.149. Count Cavoyr was the p
; of:- e rim."“‘lnl'lﬂr w. 149' . ' ﬁ ﬁqﬁﬁ'ﬂ;ﬁﬂ' H
' (1) Baltic State o - e
(2) Austria (1) ofees =
(3) England (2) =nfega
(4) Sardinia and Piedmount (3) Ieis
(4) wfefmn 3k tenive
Q.150. Napolean Bona . .
Part died in :- W 150, dif ﬂﬁ’ﬁﬁmﬂﬁ
(1) 1815 . -ﬁ i
(2) 1821 (1) 1815
(3) 1831 (2) 1821
(3) 1831
(4) 1845
(4) 1845

Q.151. Gandhi Irwin Pact was signed on the

eve of :- w151, Wwﬁ?mm%@m

(1) First Round Table Conference e & e
| (1) w&ell e 9w qfiwg
(2) Second Round Table Conference (2) Z5dt e A= ofteg -
(3) Third Round Table Conference (3) Fr=d e g9 gftge
(4) Communal Awards (4) FTa @
e are cated oo | T 152 T arra e et e frd
(1) Autobiographics (1) AT
(2) Memories | (2) wfferat
(3) Monuments (3) =rH
(4) Inscription (4) g
Q.153. What was the designation of Pt. J.L. | W. 153, ®Haens W&T & feq
Nehru in Interim Government TEw W U e ¥ ¥ o ar -
(1) Prime-Minister (1) wurFgs
(2) President (2) Tegafa
(3) Vice-President (3) 39-Tegufa
(4) None of above (4) IR =1 7
————————49 e
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Q. 154, Who laid the foundation of Modern
Postal System in India

(1)
(2)
(3)
(4)
Q. 155.
(1)
(2)
(3)
(4)
Q. 156.
(1)
(2)
(3)
(4)

Raja Ram Mohan Roy

Sher Shah Suri

Akbar

Britishers

Who translated Ramayana in Tamil
Kamban

Tikkana

Pampa

Poona

It records the history of Kashmir :-

Akbarnama
Prithviraj Raso
Padshahnama
Rajtarangani

Q. 157. Match the following and give the
correct sequence of second column entries.
1. Brahmo Samaj - Keshava Chandra Sen
Arya Samaj - Swami Vivekananda
Prathana Samaj - Raja Ram Mohan Roy
Sadharan Brahmo Samaj - Dayanand
Saraswati

Ramakrishna Mission - Mahadev Govind
Ranadey

(1) 3,4,5.1,2
2) 1,2,3,4,5
(3) 2,5,1,4,3
4) 5.4,3,21

Q. 158.

(1)
(2)
(3)
(4)

2.
3.
4

Who said ‘'man is a social being'

Socrate
Aristotle
Plato

M.K. Gandhi

. 154, — Lk LR
fere &t -

(1) T W AiEd T

(2) ¥t W& H

(3) FFR

(4) IS

7 1ss. afer wrar § THRT @ T frw
&

(1) Fr=A

(2) famwrm

(3) 91

(4) 9
w. 156, frer § € B W [EE Hy W
gfogra =t ¢ :-

(1) SAFIE™

(2) g T

(3) TeemEAT N (IEHImE )

(4) T
W. 157. WEt A TN G& wW-1l F wfafed
T WE W™ " |
1. WEll WO - v W 8
I g - @t e
WG WWI - [ 9 HEA |
HENUT 8y 99 - 41 qoaadt
TR faye - wgRe nifee TR
(1)3,4,5,1,2
(2)1,2,3, 4,5
(3)2,5,1,4,3
(4)5,4,3,2,1

H. 158, ' =
t"lﬁ“‘@mﬂrﬁmmt,ﬂt
(1) g&m
(2) sg
(3) ==l
(4) 0. &, it

mwhwN

e
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; school of a child -

Lo
)
L

@)

State
Government
Family
Society
Q. 160.
who said
(1) Austin
(2)
(3)
(4)

Holland
Garner
Hobbes

belongs to which country
(1) China
(2) Malaysia
(3)
(4)

Tanzania

South Korea

Q. 162.
(1)

Non-alignment means

Not to interfere in other's internal
matters

(2)
(3)

Neutrality
Not to join military group

the following is the first

'Law is the command of the sovereign'

Q.161. The Present Secretary General of UN

W. 159, Py §f @ wear &1 WOW TrSwnen
t -

(1) T4

(2) TR

(3) 9f@Er

(4) Tar
W. 160, ‘@A WY @ aw ¢ q§ HEA
feamr &

(1) snfeA

(2) Tl

(3) TR

(4) ¥™9
W. 161, WYL T qaAH qgrataa faa aor
EoR

(1) =

(2) weifern

(3) T enfan

(4) =f&ror ifn

W. 162, Tefrdgear @ ad
(I)W#Wﬁﬁﬁ'ﬂmﬁﬁﬁmﬁmm
(2) dexera

(3)%%@#@

M
S

(4) To take active part in world politics (4) fovarriify 4 g wm &
W. 163, Tl & grT TrowmwT &
| E—r:‘ﬁiz.enl-tlcfu; r;:j?; r;::ll:}:rs are nominated by | st R oy N e wae
* (1 12 (1)12
2) 02 (2) 02
(3) 08 (3) 08
(4) 10 (4)10
— ==
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Q. 164. Which day is celebrated as International
Human Rights day

(1)
(2)
@)
(4)

8th September
10th January
10th December
24th October

Q. 165.

(1)
(@)
(3)
(4).

Q. 166. Who was the first spreaker of Lok
Sabha ?

(1) G.S. Dhillon

(2) RaviRai

(3) G.V.Mavlanker

(4) B.R.Bhagat

Which of the following is not the state
United Nation

USA

India

Nepal

Q. 167. Which of the following Institution is
known as Fourth Estate of democracy

(3) 10 fRE=t
(4) 24 FFEL
¥, 165, Frer § § TG WO &
(1) WgFa T
(2)
(3) W@
(4) A9
Y. 166. TIH WHT ST WAW Y hA A 7
(1) . fee
(2)
(3) i . HEeht
(4) |1, N 9T

w. 167. = § ¥ frg wem @ w6 @

(1) Bureaocracy (1) et
" (2) Legislature (2) faurmes
(3) Judiciary (3) =raurferr
.{4) Press (4) vg
Q.168. By which Amendment of the K. 168, fa mff 'th'ﬂ? & g e ¥
constitution Ten fundamental duties were | 10 Hifeteh wded wirg T
added. (N4
(1) 42nd (2) 44 =i
(2) 44th (3) 52 =i
(3) 52nd (4) 61 =i
(4) 61st
;__;___________ _
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. 0.169. Which of the following is not an elected
| member of the House ?

(1) Speaker of the Lok Sabha

(2) Deputy Speaker of the Lok Sabha
(3) Chairman of the Rajya Sabha

(4) Deputy Chairman of Rajya Sabha

Q.170. Which Volcano is known as "Light
House' of the Mediterranean Sea ?

(1) Monaloa
(2) Stramboli
(3) Krakatoa

(4) Visuvious

Q.171. Out of the following which one
statement regarding earthquakes is wrong ?

(1) Earthquake magnitudes are based on
direct measurements of amplitudes of
seismic waves.

(2) In the Richter scale each whole number

" demostrates a hundred fold increase in
the amount of energy released.

. 169, frer & & WA W W A FH G
Pratfas wam W ¢
(1) AiHad H1 AAY
(2) AiFgT H ISTAH
(3) Toa@s &1 wwrfd
(4) T 1 STEHTIf
%, 170, P vaTeTE @ YT TR H TEH
' T W ¢ ?
(1) T3
(2) W
(3) HIHRIS
(4) fagfamw
w. 171, Profafaa § ¥ qaw A FT HEA-A
& HY WA ¢ ?
(1) Y& F faa Jay €9 4 qHAE 70
% famr ¥ Andt ot &
(2) fe TR W v f wen frefaa
Fell F1 100 oN T 21

, (3) e Y e TETet dH W At S
(3) The intensity of earthquake is measured N
on Mercalli scale.

(4) The magnitude of earthquake is a (4) g&™ FI doa Foi & Frewfaa 8 @

_ Mmeasure of energy released. st 2
Q.172. Which one of the following crops | . 172, Frefafem & & #-w wae gar &
enriches nitrogen content in the soil 7 TR F ghg w &2

(1) Potato (1) e

(2) Pea (2) 9

(3) Sorghum (3) 'a‘r{q'q.

(4) Sunflower (4) g
_— =5 === ——
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Q.173. The clouds float in the atmosphere
because of their low

(1) Temperature

(2) Pressure

(3) Density

(4) Velocity
Q. 174. Which two seas/oceans are connected
by Suez Canal ?

(1) Mediterranean Sea - Indian Ocean

(2) Mediterranean Sea - Atlantic Ocean

(3) Mediterranean Sea - Pacific Ocean

(4) Mediterranean Sea - Arctic Ocean
Q. 175. Which of these currents does not flow
in Atlantic Ocean ?

(1) Gulf Stream

(2) Labrador Current

(3) Humbolt Current

(4) Falkland Current

Q. 176. In Ganga plain rainfall decreases from
east to west because

(1) Height of surface increases from the
sea level.

Temperature increases
Humidity in the air decreases gradually

Frequency of western disturbances
increases in the west

(2)
(3)
4)

v 173, Prefefes # ¥ fFa T W T
mmmﬁﬂﬁf?

(1) araEE
(2) ==
(3) oA
(4) @

. 174, W 7ET FFA A AN /AETETTY
gt #?

(1) @A FrR - &= AeTErR
(2) YA AR - 3T HETETR
(3) Y9 |MR - WY1 HerEri
(4) Y9 W - i TR

w 175, Preafafas & @« =-d®t  amo
AFHETATTT ¥ TET wgdt ?

(1) ™% &
(2) #oER F: um
(3) FEeE W
(4) WiFAvE uE

V. 176, M @ ¥ A qof ¥ ufvew @ i
aut ®i A wedt ol &, wife

(1) " & 9% 7 § =g agd €|
(2) A= sga A # |
(3) =g 4 T F wen www: w=d ot

(4) 9frmm + sin ofrem fasisi =1 sl
agdt St #
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477 what happens out of the following
Jhen the sun shines overhead the tropic of
apricom in southern hemisphere ?

(1) In north-westem India high pressure
develops due to low temperature

(2) In north-western India low pressure
developes due to increase in temperature

(3) In north-westem India there is no change
in temperature and pressure

(4) In north-westem India scorching ‘loo’
flows.

a 178. Which statement regarding Himalayan
fivers is wrong 7

(1) Most of the Himalayan rivers are
antecedent or older than the Himalayas.

(2) These rivers have formed gorges which
are narrow, steep sloped and deep
between 1800-3600 metres

(3) Headward erosion and river capture are
the features of these rivers

(4) These rivers are highly useful for power
generation as they form several waterfalls.

Q. 179. ‘Operation Flood' is related to

(1) Agricultural production
(2) Fish production

(3) Milk production

(4) Honey production

Q 180. Which out of the following is the

(2) 73 7= 3 1800 B 3600 T2Z TR A3
F3 =7/ 3= e S E

(3) ¥id B2 3 SRE-T T T2 3 e
21

(4) 7 3=l 7ga #fE IoyeE 99 £, 3

|
u. 179. ‘aifeive vez’ foaoa oafas

(1) =1 37

(2) 9793 3797

(3) T4 3723

(4) Y=z 3I797=3

w. 180. Frefofes ¥ 3 fava o vy =

(1) Kiel canal (1) =49 72
(2} Panama canal (2)mm
(3) Soocanal (3)
(4) Suez canal ‘i::!ﬁ'

(4) =3 =

—_— :
e R
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